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CUHYC U KOCUHYC pasHOCTU

SIN(X + ¥) =S X:COS Y+ COSX SN y

SIN(X— ) =8INX-COS ¥ —COSX-SIn y
COS(X+ ') =COSX-COS y —sinx-Sin y
COS(X— V) =COSX-COS y+Sin.x-sin y
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Boruuciums : cos15°
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Boiuncaums :sin48°-¢cos12°+¢cos48°-s51n12°

sin48°-cos12°+c0os48°-s1n12° =
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Igx +1gy

(g(x+y)=
-1 ax - [gy

1gx —1Igy

1 +2gx-1gy
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KOTaHreHc CyMMmbI U pasHOCTU

aprymMeHTOoB
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cigx - ctgy — 1

cltg(x+y) =

Ccigx + cigy

ctgx - ctgy +1

cltg(x —y) =—
Cigx — Ccligy
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Boruucaums : 1g75°

’g750= tg(300+450)= fg30°+1g450 _
1—1g30°-1g45°
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Botyucnme : cos( —2— —30°)

COS(£ —30°) =sin30°= 1
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Boruucaums :sin( 2 +45°)
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Boruucaumo : ctg(270° + 60°)

ctg(270° + 60°) = —160° = —/3
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SIN2X =

28INX COSX
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COS2X=COS“ x—sIn” x

ctg’x —1

Clolx =
2ctex
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l+sin2x

COS2x
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I+sin2y SIN~ X +COS™ X+ 28INX-COS X a

Cokpamums Opodb :
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COS 2x COS X—sIn x

(SIn X + Cos x}" SIN X+ COS X

(COSX—SInX) - (COSTHSY)  cos x—sin v
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1. HaHTH 3Ha4YeHHEe BhIpa’keHH
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17— — — S Y] — —
smlz COS12 S 12 COS‘»12

2. YHOpOCTHTH BBIpA’XKeHHE

cos(-0)-'sin(-B) — sin(o - B)

3. PemHTh VPaBHEHHE

sin3xcosS5x —sin Sxsin3x = —1

4. Jano: sina = 0,8;
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Ha#fima: cosa, tga, ctga




